Set~4

Code No. 56(B)

Series 1HKPQ6/C

Roll No.

Candidates must write the Code on the
title page of the answer-book.

e Please check that this question paper contains 18 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

¢ Please check that this question paper contains 33 questions.

s Please write down the serial number of the question in the answer-book

before attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on

the answer-book during this period.

[m] 15 [x] o0
B CHEMISTRY (Theory)  &it

(FOR VISUALLY IMPAIRED CANDIDATES ONLY)

Time allowed : 3 hours Maximum Marks : 70

56(B) Page 1 of 36 P.T.O.

https://www.cbseboardonline.com/




E':HAE-
o

[l
57

General Instructions :
Read the following instructions very carefully and strictly follow them :

(r)

(it)
(iit)
(iv)
(v)
(vi)

This question paper comprises four Sections — A, B, C and D.
There are 33 questions in the question paper. All questions are
compulsory.

Section A - Questions no. 1 to 16 are very short answer type
questions, with each question/part carrying 1 mark.

Section B — Questions no. 17 to 25 are short answer type questions,
carrying 2 marks each.

Section C - Questions no. 26 to 30 are long answer type-I
questions, carrying 3 marks each.

Section D - Questions no. 31 to 33 are long answer type-II
questions, carrying 5 marks each.

There is no overall choice in the question paper. However, an
internal choice has been provided in 7 questions/parts of one mark,
3 questions of two marks, 2 questions of three marks and all the
3 questions of five marks. You have to attempt only one of the
choices in such questions.

(vii) In addition to this, separate instructions are given with each section

and question, wherever necessary.

(viii) Use of calculators and log tables is not permitted.

1.

SECTION A

Read the passage given below and answer the following
questions : 4x1=4

The carbon-halogen bond of alkyl halide is polarised due
to high electronegativity of halogen. The boiling points of alkyl
halides are comparatively higher than the corresponding
hydrocarbons. These are slightly soluble in water but
completely soluble in organic solvents. The polarity of
C — X bond of alkyl halides is responsible for their nucleophilic
substitution, elimination and their reaction with metal atoms.
Nucleophilic substitution reactions are categorised as Sy1 and
SN2 on the basis of their kinetic properties.

56(B) Page 2 of 36

https://www.cbseboardonline.com/



B EE
He S

The following questions are multiple choice questions :
(1) Which of the following has the lowest boiling point ?

CH,
|
(A) CHj- (ll - Cl

CH,
(B) CHj- CH, - CHg

(C) CHjy - CH - CH, - CHy
CH,

(D) CHjz-CH, - CH, - CHy —Cl

(ii)(a) Which of the following is least reactive towards
SN2 reaction ?

(A) CH3CHy - CHy — CHy - Cl

(8) CHj - CH - CHy - Cl
CH,

(©)  CHy - CH - CH, - CHy
Cl
CH,

(D) CH4- (:: —ql
CH,

OR
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(ii)(b) Which of the following is most
Sn1 reaction ?

(A)
(B)
(C)
(D)

1-Bromopentane
1-Bromo-2-methylbutane
2-Bromopentane

1-Bromo-3-methylbutane

reactive towards

(iii) The IUPAC name of CHy; -CH =CH - CH - CHyq 18 :
|

(iv)

56(B)

(A)
(B)
()
(D)

2-Chloropent-3-ene
4-Chloropent-3-ene
4-Chloropent-2-ene
2-Chloropent-4-ene

Cl

Which of the following molecules is chiral in nature ?

(A)

(B)

()

(D)

OH

CHq - (:3 — CHj
Br

CHg - (IJH - CHg,

Br
H
CH3 - CH2 - (Il - CH3
Br

CH3 — CH2 - CH2 - CHZ —Br
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2. Read the passage given below and answer the following
questions : 4x1=4

Adsorption is the phenomenon of attracting and
retaining the molecules of a substance on the surface of a solid
resulting into a higher concentration on the surface than in the
bulk, while in absorption the substance is uniformly
distributed throughout the bulk of the solid. Heat is released
during adsorption. Depending upon the forces there are two
types of adsorption : Physisorption and Chemisorption. The
relationship between extent of adsorption and pressure of the
gas at constant temperature is known as Freundlich
adsorption isotherm.

In the following questions (Q. No. 2 (i) - (iv)) a statement of
assertion followed by a statement of reason is given. Choose
the correct answer out of the following choices.

(A) Assertion and Reason both are correct statements and Reason
is the correct explanation of the Assertion.

(B) Assertion and Reason both are correct statements, but Reason
is not the correct explanation of the Assertion.

(C) Assertion is a correct statement, but Reason is a wrong
statement.

(D) Assertion is a wrong statement, but Reason is a correct

statement.
(i) Assertion: Adsorption is endothermic in nature.

Reason : The residual attractive forces of the
adsorbent are responsible for attracting
the adsorbate on its surface.
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(ii) (a) Assertion: Absorption is a bulk phenomenon.
Reason : Silica gel shows adsorption while
anhydrous calcium chloride shows
absorption.
OR
(b) Assertion : Aqueous solution of raw sugar when
passed through charcoal becomes
colourless.
Reason : The colouring substances are
adsorbed by the charcoal.
(iii) Assertion : Physisorption is specific in nature.
Reason : Physisorption arises due to van der Waals
forces.
(iv) Assertion : The extent of adsorption (%) is constant
at high pressure.
Reason : At  high pressure 1 0 and
n

X
— = constant.
m

The following questions (. No. 3 to 11) are multiple choice questions :

3. Nucleic acids are polymers of :
(A) D-ribose
(B) Amino acids
(C) Nucleotides

(D) Nucleosides
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4. (a)

(b)

5. (a)
56(B)

4

Which of the following has d® configuration ?
(Atomic number Mn =25, Cr =24, Ti =22, Cu=29)

(A) Mn?*
(B) Cr?*
(C) Ty2+
(D) Cu?t
OR

Which one of the following transition metals does not
show variable oxidation states ? 1

(Atomic number Sc = 21, Fe =26, Cr =24, Cu=29)
(A) Sc
(B) Cr
(C) Cu
(D) Fe

What type of defect is shown by NaCl ? 1
(A) Frenkel defect
(B) Schottky defect
(C) Both Frenkel and Schottky defect
(D) Impurity defect
OR
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(b) Which of the following will create F-centre in a crystal ?

(A)
(B)
(C)
(D)

ZnS

NaCl
AgCl
AgBr

The maximum covalency of nitrogen in NoOy is :

(A) 2
B) 4
(C) 3
D) 5

(a) The oxidation state of Co in [Co(NH3),Cl5]Cl is:

(A)
(B)
(C)
(D)

+3
+2
+4
+6
OR

(b) Which one of the following is a homoleptic complex ?

(A)
(B)
(C)
(D)

56(B)

[Pt(NHj3)oCl)
[Co(NH3),Cly]*
K4[Fe(CN)gl
[Co(NH3),CI(NO,)IC1
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8. Which of the following ligands form a ‘chelate’ complex with
metal ion ? 1
(A) H,0
(B) H,N-CH,-CH, - NH,
(C) NHj
(D) Cl
9. The major product formed in the following reaction is : 1
U CH,CH; UV light
+ Brg ————
(A) U
CH, - CHg
(B) O[
Br
CH, — CHgq
o ST
Br
Br
I
CH - CHg
(D) @(
56(B) Page 9 of 36 P.T.O.
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10.

11.

The

formula

of the

pentaamminenitrito-O-cobalt(IIl) is :

(A) [CO(NH3)5(N02)] +

(B) [Co(NHg)s(NOy)I2t

(C) [Co(NHg)s(ONO) 2+

(D) [Co(NHg)s(ONO)I*

coordination

compound

(a) Which of the following is not a molecular solid ?

(A)

(B)

(C)

(D)

Ny
Io
SiC

CO,

(b) The number of atoms per unit cell in a body-centred cubic

unit cell is

(A)
(B)
(&)
(D)

56(B)

4

2
1
3
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In the following questions (Q. No. 12 - 16) a statement of

assertion followed by a statement of reason is given. Choose
the correct answer out of the following choices.

(A) Assertion and Reason both are correct statements and Reason
is the correct explanation of the Assertion.

(B) Assertion and Reason both are correct statements, but Reason
is not the correct explanation of the Assertion.

(C) Assertion is a correct statement, but Reason is a wrong
statement.

(D) Assertion is a wrong statement, but Reason is a correct

statement.
12. Assertion : p-nitrophenol is more acidic than phenol.
Reason : Nitro group is electron withdrawing group and
stabilizes p-nitrophenoxide ion. 1
13. Assertion: Despite having an aldehydic group glucose does
not give 2,4-DNP test.
Reason : Glucose is a reducing sugar. 1

14. (a) Assertion:  Iron on reaction with HCI gives FeCly and

not FeClg.
Reason : Cl, gas produced from the reaction
prevents the oxidation of FeCl, to FeClg. 1
OR
(b) Assertion:  Fluorine has less negative AgH" than
chlorine.
Reason : Fluorine has smaller size than chlorine. 1
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15. Assertion : Propanone is more reactive towards
nucleophilic addition as compared to propanal.
Reason : Propanone gives 2,4-DNP test. 1
16. Assertion : Noble gases have very low boiling points.
Reason : Noble gases have very weak dispersion forces. 1
SECTION B
The following questions (Q. No. 17 to 25) are short answer type and
carry 2 marks each : 9x2=18
17. (a) Write the structures of the products when
(1) Phenolis treated with bromine water, and
(ii) Propanol is heated with Cu at 573 K. 2x1=2
OR
(b) Carry out the following conversions : 2x1=2
(i) Ethanol to ethyl cyanide
(1i) Phenol to acetophenone
18. Write two differences between an Ideal solution and Non-ideal
solution. 2
19. (a) Write the hybridisation, shape, magnetic behaviour and
IUPAC name of the complex [Fe(CN)gl*~. (Atomic
number of Fe = 26) 2
OR
(b)  What is crystal field splitting energy ? How does the
magnitude of A, decide the actual configuration of
d-orbitals in a coordination entity ? 2

56(B)
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22,

For a first order reaction, show that time required for
99% completion is twice the time required for the completion of
90% of reaction. (log 10 =1) 2

(a) Account for the following : 2x1=2
(1) Transition metals show variable oxidation states.

(11) Trivalent lanthanoid ions are coloured both in solid
state and aqueous solutions.

OR

(b) Why does Mn show maximum number of oxidation
states ? Which oxidation state of Mn is most stable and
why ? 2

Write the name of reagent(s) used in the following reactions :
2x1=2

@) CH3CHO ——> CH3CH,0H

OH

YeENe

23. Why is chlorobenzene less reactive towards nucleophilic
substitution ? Give two reasons. 2
24, Write the equations involved in the following reactions : 2x1=2
(i) Hoffmann bromamide degradation
(ii)) Diazotisation
56(B) Page 13 of 36 P.T.O.
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25. An element with molar mass 72 g mol~! forms a cubic unit cell
with edge length 400 pm. If its density is 7-5 g cm™>, identify
the nature of the cubic unit cell. 2
SECTION C
Q. No. 26 to 30 are long answer type-I questions carrying 3 marks
each. 5x3=15
26. (a) What happens when
(i) bromobenzene is treated with Mg in the presence of
dry ether;
(ii) chlorobenzene is treated with CHgCl in the presence
of anhydrous AlCl3; and
(iii) methyl chloride is treated with AgCN ? Ix1=3
OR
(b) Do the following conversions : Ix1=3
(i) Chloroethane to butane
(ii) 2-bromopropane to 1-bromopropane
(iii) Ethyl chloride to propanoic acid
. . 0 . ey. 9
27. (i) Whyis E Cu+/Cu exceptionally positive ?
(ii) Why is Sc3* colourless but Ti%* is coloured ?
(iii) Why do transition metals and their compounds show
catalytic activities ? Ix1=3
56(B) Page 14 of 36
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28. (a) Define the following terms : 3x1=3
(i) Anomers
(ii) Peptide linkage
(iii) Denatured protein
OR
(b) What happens when glucose is treated with : 3
(1) bromine water ?
(i) HI?
(iii) HoN-OH?

29. Vapour pressure of water at 293 K is 17-536 mm Hg. Calculate
the vapour pressure of agqueous solution when 20 g of glucose

(Molar mass = 180 g mol™1) is dissolved in 500 g of water. 3

30. A first order reaction takes 30 minutes for 60% decomposition.
Calculate ty/. 3

[Given : log 2 = 0-3010, log 3 = 0-4771, log 4 = 0-6021, log 10 = 1]

SECTION D

Q. No. 31 to 33 are long answer type-II questions carrying 5 marks
each. Ix5=15

31. (a) () Account for the following :
(I) NHg is a stronger base than PH.
(II) Oxygen shows —2 oxidation state except in OFs.

(ITI) Fluorine shows anomalous behaviour.
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32.

(b)

(a)

56(B)

(1i) What happens when
(I) Cly reacts with cold and dilute NaOH; and
(II) Cu reacts with concentrated HoSOy4 ? 3+2=5

€)

(ii)

(i)

OR

Arrange the following in the order of property
indicated for each set with reason :

(I) HF, HCI, HBr, HI — decreasing acidic strength

(I) NHg, PH3, AsHg, SbHg, BiHg — increasing
bond angle

(ITII) HyO, HyS, HoSe, HyTe — increasing acidic
strength

Why are halogens
(I) coloured in nature; and

(II) strong oxidising agents ? 3+2=5

Identify A, B and C in the following reactions :

dil. NaOH S A

I Cr03
(D CHg-CH,— OH —23> A B—25C

CH3 KMnO,KOH g+ _ PClg
(IT) A > A > B >C
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(i)
(b) ©
(i)
56(B)

Distinguish between the following pairs :

(D CH3-CH;-CHO and CHg3-C-CHg
I

O

OH COOH

w €Y w )
3+2=5
OR

Write the product(s) in the following reactions :

COOH

conc. HNO3 + H,SO,

(D >

CHO
(I @ conc. NaOH R

(a) SnCl,, + HCI

1) CH4CN
Sy AT

Give reasons :
(I) Carboxylic acids do not give the reactions of
carbonyl group.

(II) In semicarbazide (HoNCONHNH,), only
one — NHy is involved in the formation of

semicarbazones. 3+2=5
Page 17 of 36 P.T.O.
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33. (a)

(b)

56(B)

Calculate the emf and AG of the following cell at 298 K : 5
Mg (s) | Mg2* (103 M) || Cu2* (1074 M) | Cu(s)

Given : Egell =+270V, 1F =96500 C mol-1, log 10 =1

OR

(i) Calculate the A.G® and log K. for the following
reaction :8

Fe?t (aq) + Agt (aq) —— Fe3t (aq) + Ag (s)

E° = +077V, E° = +080V
Fe3t/Fe2t Agt/Ag

(ii) State Kohlrausch’s law of independent migration of
ions. Write its one application. 3+2=5
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QAT 1337
FAeTicTiad a9 1 aga qiaerl & 9ieq 3N 37T Gl 8 91T FIg

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

I8 Yv-97 AR GV R QWi faar 7T 2 - @&, @, TE w | 39
¥o7-97 4 33 X% & | @t I57 T & |/

@Ue & § Fv7 9&9 1@ 16 % 3ffd TY-I0T FFR & T &, A%
Yo7 /97T 1 3k HT 8 |

@UE @ 4 7 ey 17 @ 25 0% Tg-I09 JHR & 97 &, J9% Fo7
2 HH HTE |

&S T 97 &7 26 @ 30 7% HH-3507 JER-1 ¥ F¥7 &, I9% Jo7
3 3HH FTE |

GUeg g 4 J57 &7 31 & 33 a% -39 IBR-II & 97 &, Fc9% T97
537% HT8 |

J97-97 H Hi¥ GHT 999 781 & | a9, Th-Th 37% & gid Fo41/ 970 5,
g1-3t 3fHl & @7 FeA °, dT-d 37Hl F g FvT 7 a°r ga-gia bl F
@1 Fo7 7 SaR% fawheq 17T 7T & | BF Fel 4 8 FacT §F & faded
T I AT |
W@é&iﬁ/ﬁﬁzaﬂmm@vgaﬁzmim%ﬁﬁrﬁq
e/

(viii) Segpict AT T 2FT & JIIT 1 3FHlT g1 & /

1.

«ug

Hie fow Tu oreee At ufew aur frfafae wet & s AR axi=4

Ufchd g@ES H FEA-QANH @Y qENE Hl IA
forggq-omcAshaT % FROT gfaa Bid 8 | UfceRer RSl % @Y WG
FEGIHEHT I g1 | AT B 3 | I I | 37y faeiw Safe wefs
faamaet 4 qf &9 4 faeiw 21d 3 | Weort daESi # C - X ey H
{1 §Toh AT Hfcredrod, e aem enfcaes wamogett & SAfdifsean
% TIIT STRERN § | TS Saiaeh! o SATEIR 9T IR Sioemed
AT hl Syl qAT Sp2 H affeha oA S 2 |
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Frafafea w7 sgfeeds ww= €
() FTffaa ¥ & foraer =Had Fae- &8 ?
o
(A) CH3—(|J—CI

(B) CHg-CH, - CHg

(C) CHjy - CH - CH, - CHy
CH,

(D) CHjz-CH, - CH, -~ CHy —Cl

(ii)a) Fefafea & @ = Sy2 e & vk w=@ #A
sfrfsramefier @ 2

(A) CH3CH, - CH, - CH, - Cl

(B) CHj-CH-CHj -~ Cl
CH,

(©) CHj - CH - CH, - CHy
Cl
CHj

(D) CHg- (:: )

CH,

AT
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(i)b) Ffafaa & @ =+ Syl AWbr & ufo ws@ sfee
AAfufsramefier @ 2
(A)  1-sHHII

(B) 2-5H1-2-Rieree
(C) 23Hu=A

(D) 1-50-3-AfreTege

(iii) CHg-CH=CH - (|JH — CHg 1 IUPAC W @ :
Cl
(A) 2-FARU=-3-57
(B) 4-FANN=-3-87
(C) 4-FARYE-2-51
(D) 2-FANIU=<-4-37

Giv) Freffas ot i & fred Sf fer 2 2
OH
(A) CHjy- (:3 — CHy
Br
(B) CHg- (IIH — CH,4
Br
H
(C) CHg-CH, - (:3 — CHg
Br
(D) CH3-CHjy;-CHy;-CHy-Br
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E% = fow Tu eg=Rg @t ufyw aen fefefan ywat & S G 4x1r5=%

AAfernyer a8 uiwer ® R fpeft 3 o1 ym foredt aqred %
T I ATHNG B YRV R Al 2, Tk TRUmEET 98 | 9qre
ST Gigul TIA <hl g1 | 9¢ SITaT & Seieh STa=Ny 4 qgref, 39
T W H wH §9 ¥ faala |t Smar g 1 Al % e e
et 3 | SE % MYR W q FHR & Afemnwwr : Hifew iflmmyo
I TER SRR g 7 | T R a9 ) Aty 6 761 @
A9 & @ & o GEY Hl BIA-SoTh AREIYY AHardt & AW & T
ST R |

Referfea 97 (397 &7 2 (i) - (iv) ) H U ATUFEIYT 79T 385 HNOT
#T w21 mar § | Referea faweal 4 @ gt swv 9w |

(A) iR TR SR T T8 HeH g IR wrvl, IlkepyH 6 g8
=& § |

(B) frehe 3R HRUT T T o §, Tg BRI, fehe i T
e T 2 |

(C) AHHIT ! HIY 7, T PR TATd HH 7 |

(D) AFrheF T e ], UG hRYT HEl YT 2 |

Q) ofpeT: ARl i wehfa ST Bt R |

R ; HAfusnyes & AR AT o & IWH I8 W
ATty =l TRNa = & T ISR B R |
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(b) 3IFYT :

(iii) SYHYT:

(v) 37HYT:

DR :

HAl THY o AT IR w I 8
YaTfgd A T TG 8l SIidl @ |

Tl qerel =ehied R SN & S & |

Wfcres SrfRreiier it wepfar fafdre gt & |

Hifos AT Gt 9" 7@l % HRO BT
g1

I= T W AN < 7w [Xj ferad g |

m

FHTEW L —oam X =far |
n m

FETfcTRad 5o (597 &% 3 @ 11) Tglaehedid T 2 -

3. YAlh I

& TgAS 7 |

(A) D

(B) UHFI arrAl
(C) —fawsiiergel
(D) —AfFasnarEel

56(B)
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4.

5.

(a)

(b)

(a)

56(B)

Faferfea & & forgem d° famE 8 2
(TTETY] AT Mn = 25, Cr =24, Ti=22, Cu=29)

b~

(A) Mn?*
(B) Cr?+
©) Ti*
(D) Cu?*

HYAT

Frfeifaa § @ ®F-a1 THAY GTg IREHT ST TEEATE

T ouian 8 ? 1
(qATY] 3RHTe Sc = 21, Fe =26, Cr =24, Cu=29)

(A) Sc

(B) Cr

(C) Cu

(D) Fe

NaCl g1 for SR w1 QY gifer St 2 ? 1
(A) Thehd QW
(B) =iigshl QW
(C) Shohel Td Wiigeh! QIS gHI
(D) HYGAT QN
AT
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(b) T=fRaa & & -1 hted & F-aheg a1 8 ?
(A) ZnS
(B) NaCl
(C) AgCl
(D) AgBr

N, O & TN it o TeasieaT & :
(A) 2
(B) 4
© 3
D) 5

(a) [Co(NHjg),ClylCl § Co i STaRIehIUT AaEAT B :

(A) +3
B) +2
(C) +4
(D) +6

JAET
by Fmies & & S AR e 2 2
(A) [Pt(NHg)9Clsl
(B) [Co(NHg)4Clyl™*
(C) Ky[Fe(CN)gl
(D) [Co(NHg),CINOy)ICI

56(B)
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Frfafaa forrel § @ ST 91g IRA & 919 Hiele FHd &A@

3?7
(A)
(B)
(C)
(D)

H,0

H,N - CH, — CH, — NH,
NH,

Cl

FrfaRea sifufshar & a9 aren 1w Sag § -

(A)

(B)

(8))

(D)

56(B)

UCHzCHS + Br, TOAE SER

[::rCHZ—CHz—Br

CH, - CH,

Br

Br
Br
I
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10. SUHEEANS Afieh e ATsI¢el-O-hiaTee(III) 1 7 7 :

(A) [Co(NHg)5(NOI*
(B) [Co(NHj3)5(NOyI2
(C) [Co(NHgz)5(ONO)%+

(D) [Co(NHg)s(ONO)I*

11. (a) T=faRaa & @ wiF-an anfves 39 777 8 ?
(A) Ny
B) I,
(©) SiC
(D) CO,

(b) 3d: fgd T T HIfFE | Ui T RifBH § qwA0RAT
T Bt B
(A) 4
(B) 2
© 1

(D) 3
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FReaferfega I97 (997 G112 & 16) § v SIRIweT 79T 59% FHT &
e 134t ot § | Raferfea fAweat 4 @ agt sav st gfAv |

(A) AfReA TR HROT ST TEF B § TR HRYT, AR 6t L
T & |

(B) SARYHA ST HRUT GHI TGT o &, TG RV, AR i gt
T 787 2 |

(C) <AfYHeE | HUA 7, Tg BT TId HI 3 |

(D) AT TAd U §, Tg PRI T8 I § |

12. IHg7:  p-RSHE, $HE o Afth 7T 8 |

BRI : MY TR TAH ATEE TR R
p-TE BTSSR whl TR 2T 8 | 1
13. 3Fy7:  HIE H Uesas! T 8 % Sevg Ht 24w,
e T ST R |
HR ; I Th TR 7 3 | 1
14. (a) &g7: AW i AR HCl 8 HE@H W FeCly <
8 a9 FeClg &l |
BRI : stfifskar & Cly, @ st @ St 76 FeCly, %
FeClg § ATHEIhUT ! SIA Lt B | 1
areEn
(by frpg7: T R gET W TG H A H A
O Bl 3 |
R ; FARH sl JoHT H FGARH T AR BieT Jial
2 | 1
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& 5E
15. AFy7: WU HI T H WA AT0RET IS (FHe)

arffsean = wfa st srfufsramsfiar @iar 8 |
FR ; T 2,48 w b, wdiegor T @ | 1
16. ffe7:  IcpE MM % FEHI 9gd &l H Bd 3 |
PR : Ipe et 3 s gl TREAT I B R | 1
WEw
Feferfea o7 (397 &1 17 @ 25) TY-37G9 F97 & 3k y9% Fo7
2 37 FE: 9x2=18

17. (a) Gl ! G faRay s«
(i) AT sl kAT FHH S & @ &, IR
(ii) AT I 573 K | Cu % 919 T fohaT ST 7 | 2x1=2
HAAT

) FefaRga saawn =t fifsa 2x1=2
() T ¥ R GRS
(i) HHla ¥ TR
18. H1eX oA Ud SHE foema | 9 1= fofay | 2

19. (a) UFA [Fe(CN)glé~ 1 Hehiul, AR, b Safi o
IUPAC ¥ fifaq | (Fe &1 S0TY] s = 26) 2
srean
(b) Torea & faure St 71 3 ? SUEEUASH dar § d-H&ehi &
qreafores famama =1 A, % aiamr @ Fa fo e g 2 2
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gﬁ
20.

21.

[l
57

ganise T wem wife b eAfufsenr & fow 99% qof g9 # R aren
Tw, SRR % 90% T 89 § @H I 9WT 1 QAT gt # |
(log 10 = 1) 2
(a) ﬁm%ri@a%aﬁmwzﬂﬁrq 2x1=2

() EshwoT uTge aREdY ATedieor sraeant gt § |

(i) FEash deATge 3RA 3| Hew wd oy oo dFl

¥ f 8 § |
T

(b) Mn ATEhaT &I A SATFHIRT ATEATE AT geriar 8 2 Mn i

SHI-HT AT 7T Tod ATereh T & 997 F+47 ? 2

22, f=fafea sfuframstt & waw &R o ftrerde/afiemdenl & ™

ferfae . 2x1=2
(i) CHgCHO ——s CHyCH,OH

OH
|
o )+ O

23, TSN ARG SEaTT % Yia ®H SIGRaNte w1 & ? o

T §q18T | 2
24, T=fafga sifufrnet & aftifea i =t fafag . 2x1=2
() B SHMES e
(i) SEUSIEIHT
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B EE
He S

25. Th X S Hierk ¢qH 72 g mol~! 8 991 Uiy Theh hifBehI
sHTaT 8 Forehl it ht TmrE 400 pm ® | A 39 B9 7-5 g em S
3, @ T T Ff¥E A THia w g | 2

Qe

J97 &7 26 @ 30 3707 FHRI ¥ F97 & 3N Idb 97 3 bl HT
g1/ 5x3=15

26. (a) T BT R

(i) SHIsioE 1 R 56 3o it Ui § Mg & am W

(i) F@ssiE ht T CH3Cl & @y fsiefa AlCl; 6t
Jufeafa o M 9T 3

(iii) AT FeTRTss &t fsham AgCN & @ W 7 3x1=3
HYAT

(b) TTfaRaa TN I HINT
(i) AN § =
(i) 2-SSY ¥ 1-SHTeA
(iii) TS FANIZS A Ui 3T

Ix1=3

. o ¢
27. (i) Ecu2+/cu IYATCETEY YTcH o1 g ?

(i) Sc3* TéA ? Afr Tid+ @it == S § 2
(iii) HshHUT YTC qUT $Th ATk ISR afshaard w1 gofd § 2 3x1=3
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e 3%
28, (a) TFfofga vel = ufmfya hifSe . 3x1=3

(b) T BT § IS To[ohid <hi SATUfha i # : 3
(i) FTHAIIEH ?
(i) HIE?
(iii) HoN - OH ?

29. A W1 293 K W 9 g 17-536 mm Hg 3 | S« 20 g <A
(e g9 = 180 g mol 1) & 500 g SIeT W =T ATaT B, A Siefid
o= & a9 g9 T Yiehe Shifvg | 3

30. TH YW Hife <l AR § 30 e § 60% FASH AT R | typ W

giteher hifse | 3
[feam = 2 : log 2 = 0-3010, log 3 = 0-4771, log 4 = 0-6021, log 10 = 1]

LC LR )

Y97 J&IT 81 @ 88 T -I0iT YFR-II & J97 & 3N Jc9% Fo7 5 37l &7
g1/ 3x5=15

31. (a) () TrAfaiea & T vror G :
(I) PHg®H gom1 § NHy Yo &R 2 |

(I) OFy % 3Afdice Siadle —2 ATofiehor e
ST 2 |

(I1I) TR STEWT SqagR YiaT @ |
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32.

(b)

(a)

56(B)

(i)

(1)

(i)

(1)

T g 8

(I) Cl, st Affha 308 T a7 NaOH 4 +aH I
3R

(II) Cu ht MG g HoSO, @ FEM W ?  3+2=5
HALAT

SO AfEd TA% g & o U T U F SR W
f=fafaa = sgafeyq Hif

(D HF, HCl, HBr, HI — 3<ig ¥W= % Wed g%
F R

(I) NHg, PH3, AsHg, SbHg, BiHg — &Y I %
w3 gL A W

(II) Hy0, HyS, HySe, HyTe — ™ AW % §gd
A A

AN =1
(D) vl & @l g § o
(II) Y= ATFHRH BId & ? 3+2=5

F=fafga «afyfsraneti & A, B @ C it 9g=T(T :
CrO NaOH
Mg, o 3NaOH o A

L.
r

() CH,- CH,-OH

CH3 xMno,KOH g+ _ PCly
(ID) A > A > B > C
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E':HAE-
o

(i)

(b) @

(ii)

56(B)

Frafafga 3o & 9g Shifsw -
(D CH3—CH2—CHO G CH3—C—CH3

I
0O

COOH

OH
wC) = )
3+2=5
HYGT

Fafafea sfufsranett # Icare/sare = fafae

SnCl, + HC
Im CH,cN 2 5nCl +HOL,

(b) HyO*

R G
I) FEGIh A BEI-A GHg I ATHGHAT T
|

(II) wHpEwEs (HoNCONHNH,) #H, %ad Th
— NH,, aHfishasiiq s # afiford giarg | 3+2=5
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- G
33. (a) T=loRea ¥« #1 298 K W f4a.§@ (emf) 9 AG
URered hifve 5
Mg (s) | Mg2+ (103 M) || Cu®* (10~*M) | Cu(s)
Rmm g E%a =+270V, 1F=96500 C mol-1, log10=1

Tt
(by () Frafafaa sifafsean & fow A GO e log K, 1 aithar

i :

FeZt (aq) + Ag* (aq) —> Fe3+ (aq) + Ag (s)

E° = 77V, E° = 80V

Pt/ P2t 0 * T Agt/Ag + 080
(i) ITEFAl % TaT IFHT & HIAUSH FI7 F1 3gg
HIT | 3@t T o iy | 342=5
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